Algebra RH
Essential Question: How do we write the equation of a line?

Do Now:
On the same set of axes, graph the following 3 lines. Complete a - c.

Think about this...
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c) 6raph y = - £x on the coordinate plane above.

Think about this... s
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Writing the Equation of a Line

A
" Find 1he slope (Zfz
. Find the '—’m+erce.‘p+

. Subsditute the valved in y= mxtb

1. Write the equation of a line whose slope is -2 and y-intercept is 4.
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2. Write the equation of a line that is parallel to 2x - y = 4 and that has the same y-intercept
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3. Write the equation of a line that passes through the point (-4 ;) and has a slope of 2.
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' 5. Write The equation of a line that passes through the points (-3,1) and (O -1).
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6. Write the equation of a line with an x-infercept of 3 and a y-intercept of 2.
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